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Puzzle Test Questions for IBPS Clerk Pre, LIC Asst., SBI Clerk Pre and RRB 
Scale I Pre Exams. 

Set No 68 
 

Directions: Read the given information carefully and answer the questions given beside: 
 

For submitting the progress report after supervision of the project, seven senior engineers namely - Ranjeet, 
Ramu, Kanchan, Praval, Divya, Zeeshan and Harendra visit ISRO on four days –Tuesday, Friday, Saturday and 
Sunday – in a week. At least one engineer but not more than two Engineers visit ISRO on each of these days. 
Each of them is a specialist in different fields – electronics, mechanical, mechatronics, programming, electrical, 
civil and instrumentation. 
 
Praval visits on Saturday with civil engineer.  Electrical engineer does not visit on Sunday neither with Divya 
nor with Harendra. Instrumentation engineer Zeeshan visits alone on Tuesday. Ramu visits on Friday and he is 
not electrical engineer. Kanchan visits on Friday.  Harendra is not civil engineer. Electrical engineer visits with 
the Electronics engineer.  The mechatronics engineer visits on Saturday. Ranjeet is neither Mechanical nor Civil 
engineer. 
 
 

1. Who is mechanical engineer? 

A. Ramu  B. Harendra  C. Divya  D. Praval  E. None of these 
 

2. Which one of the following is the specialization of Ranjeet? 

A. Electrical  B. Civil   C. Mechatronics D. Programming E. None of these 
 

3. Find the profession of Divya? 

A. Programmer B. Mechanical engineer    C. Civil engineer  D. Electronics engineer 
E. None of these 
 

4. Which one of the following visits with Harendra? 
 

A. Divya  B. Ranjeet  C. Kanchan  D. Praval  E. None of these 
 

5. Find the one who visits on Saturday? 

A. Divya  B. Harendra  C. Ranjeet  D. Kanchan  E. None of these 
 
 
Correct Answers: 

1 2 3 4 5 

B D C B A 

 



 

 

Common explanation: 
 
Reference: 
Instrumentation engineer Zeeshan visits alone on Tuesday. 
Ramu visits on Friday and he is not electrical engineer. 
 
Inference: 

Day Name Department Hint 

Tuesday Zeeshan Instrumentation   

Friday 
Ramu   Electrical -× 

      

Saturday 
      

      

Sunday 
      

      

  
Reference: 
Praval visits on Saturday with civil engineer. 
Kanchan visits on Friday.   
 
Inference: 

Day Name Department Hint 

Tuesday Zeeshan Instrumentation   

Friday 
Ramu   Electrical -× 

Kanchan     

Saturday 
Praval     

  Civil   

Sunday 
      

      

  
Reference: 
The mechatronics engineer visits on Saturday. 
 
Inference: 
Therefore, Praval is mechatronics engineer. 

Day Name Department Hint 

Tuesday Zeeshan Instrumentation   

Friday 
Ramu   Electrical -× 

Kanchan     

Saturday 
Praval Mechatronics   

  Civil   

Sunday 
      

      



 

 

Reference: 
Electrical engineer does not visit on Sunday neither with Divya nor with Harendra. 
Electrical engineer visits with the Electronics engineer. 
 
Inference:  

Day Name Department Hint 

Tuesday Zeeshan Instrumentation   

Friday 
Ramu Electronics Electrical -× 

Kanchan Electrical   

Saturday 
Praval Mechatronics   

  Civil   

Sunday 
    Electrical -× 

    Electrical -× 

  
Reference: 
Harendra is not civil engineer. 
Ranjeet is neither Mechanical nor Civil engineer. 
 
Inference: 
So, the only left Divya is civil engineer. 
Ranjeet is neither mechanical nor civil engineer; hence, he should be the programmer. 
 

Day Name Department Hint 

Tuesday Zeeshan Instrumentation   

Friday 
Ramu Electronics   

Kanchan Electrical   

Saturday 
Praval Mechatronics   

Divya Civil   

Sunday 
Harendra     

Ranjeet Programmer Mechanical - × 

  
Therefore, Harendra must be the mechanical engineer. 
 
Final table: 

Day Name Department 

Tuesday Zeeshan Instrumentation 

Friday 
Ramu Electronics 

Kanchan Electrical 

Saturday 
Praval Mechatronics 

Divya Civil 

Sunday 
Harendra Mechanical 

Ranjeet Programmer 
 



 

 

Answers : 
 

1. Following common explanation, we get 

Harendra is a mechanical engineer. 
Option B, is hence the correct answer. 

 
 

2.   Following common explanation, we get 
Ranjeet is programmer. 
Option D, is hence the correct answer. 
 
 

3.  Following common explanation, we get 
Divya is a civil engineer. 

Option C, is hence the correct answer. 

 
 

4.   Following common explanation, we get 
Ranjeet visits with Harendra. 
Option B, is hence the correct answer. 

 
 

5.  Following common explanation, we get 
Divya visits on Saturday. 
Option A, is hence the correct answer. 

  
 
  
 

 
  
 
 



 

 
 

https://testzone.smartkeeda.com/Test/Pricing

